

Guava Plant Cultivation



Contact Us: +91-9799931200, +91-9799930900,

and +91-8529388815

Email: amritanjaliayurved2@gmail.com Website: https://amritanjaliayurved.com/

अमरूद L-49 की व्यवसायिक स्तर पर खेती

Introduction:



Guava (Psidium guajava) is valued for its delectable taste and aromas a cheap nutritious fruit with a wide adaptability to diverse climatic and soil conditions, guava is an ideal crop to grow in developing countries The guava tree can easily be recognizable for its smooth, thin, brown bark that flakes off, exposing a greenish layer underneath. Guava is used to produce jams, jellies, and juices commercially. Guava may be eaten raw or cooked. Guavas are an excellent source of vitamin C and also contain iron calcium, and phosphorus.

Variety: Guava L-49

Usage:

Guava fruit is good source of "potassium". Guava fruit is low in calories and fat. Guava is good source of vitamins and minerals. This fruit is an excellent source of vitamin 'C', 'A' and antioxidants which helps in boosting immune system.

Guava is rich source of soluble dietary fiber and hence helps in treating Constipation. Consuming Guava fruit regularly lowers the risk of cancer. Guava fruits are good for Diabetic patients.

Cultivation:



The fruit vary in size depending upon the fruit load on a tree. The fruit shape usually round some time with short neck pyriform (Pear shaped strain) smooth surface. There are pink dots scattered over the whole fruit, (Chittidar). Pulp is soft and melting, white, taste sweet.

Species:

Guava L49 which is usually propagated from seed can also be propagated vegetative. The plants can be raised through cuttings, layering or mound layering.

Marketing:

Guava demand is immense in India therefore selling is not difficult. Guava is bought by many people in market. Our company also provides the facility of Buy Back agreement.

Harvesting:

Guava fruit is climacteric in nature. It can be picked when mature, light green in colour and firm. It ripens during transport on reaching the market and gives excellent colour and taste. The contractors usually harvest the fruit when ripe or nearly ripe for direct sale to the consumers. Few leaves or small branches if kept with the fruits make the fruit attractive and trees get light pruning. For distant marketing this practice should be discouraged.



Economics Of One Acre Guava Cultivation:

Expenditure:

Distance (in acre)	Sapling (in land)	Cost (per plant)	Total	Other expenses (as per requirement)	Cost of cultivation		
12X12 ft	305	75 rs.	305X75 = 22,875	Fertilizers Land preparation Labor expenses etc.	22,875 /-		
Total Cost Of Cultivation: 22,875/-							

Income:

Income of year	From each plant	Total	Company buy- back	Total			
Year 2 nd	5 kg	305X5 = 1525 kg	12 rs. kg	1525X12 =18300/-			
Year 3 rd	10 kg	305X10 = 3050 kg	12 rs. kg	3050X12 = 36600/-			
Year 4 th	15 kg	305X15 = 4575 kg	12 rs. kg	4575X12 =54900/-			
Year 5 th	20 kg	305X20 = 6100 kg	12 rs. kg	6100X12 = 73,200 /-			
Total Income: 1,83,000/-							

AVURVED MICH PUT, LTD.

Technical Support & Services:

We also provide technical support for farming. Our Service Department with technically qualified staff provide after sales service and farmers' advisory services to our customers to get better plant establishment and faster growth of Herbal and Horticultural plantations.

We have largest network of employees who deliver Plants to customers at their door steps. Free technical services to customers on planting method, management practices and plant protection measures. Our teams of Agricultural Experts periodically visits and supervise the plantations and suggest necessary guidelines to get better growth and higher returns. The income & expenditure indicated by the company is an approximate figure, as it also depends on the nature and hard work of the farmer.

Services:

- 1. This includes Supervision, consultancy, guidance, Transportation cost first year.
- 2. First production start after 2nd year and every production start in every 1 year.
- 3. Buy back agreement of Guava.
- 4. The income expenditure indicated by the company is an approximated figure, as it also depends on the nature and hard work of the farmer.

Terms And Conditions Of Company:

- 1. For 1 Acre plantation the cost of Plants is Rs. 22,875/-, out of which 50% i.e. Rs. 11437.50/- has to be paid before the cultivation and the remaining half after the planting is done.
- 2. The Buy Back Agreement Stamp paper of Rs.100/- has to be stamped by District Court of your area.
- 3. For 10 Acre or more yield the buy Back Agreement Stamp Paper will be of Rs.500/-.

For More Information Contact Us:



AMRITANJALI AYURVED OPC PVT. LTD.

ISO 9001-2015 CERTIFIED
GMP CERTIFIED
9, SAHELI NAGAR
UDAIPUR, RAJASTHAN

Contact Number: +91 9799931200, +91 9799930900, +91 8529388815, 0294-3552860

Email: amritanjaliayurved2@gmail.com, amritstevia@gmail.com

Website: www.amritanjaliayurved.com, www.amritanjaliayurved.in,

www.amritanjaliayurved.net

/amritanajaliayurved

/amritanajali_ayurved

/amritanajali ayurved



We, Amritanjali Ayurved (OPC) Pvt. Ltd. are one of the reputed manufacturers and exporters of Herbal products like Dry powder, Nixoderm Skin Ointment, Cavifast Dental Cream, Cavisan Dental Cream and much more. These products are processed using natural herbs and quality ingredients, sourced from trusted names of the industry. As demands of our clients differ from each other, we are offering our products in different size packaging as per their requirements. Owing to superior quality, effectiveness, purity, precise composition, healthy to use and long shelf life, our products are used in various commercial areas like parlors, spas, pharmacies, cosmetic industries and for daily use also. Since our establishment, we have been associated with dedicated team of professionals, who are experienced and knowledgeable professionals. Our entire team is assigned with different activities who work in complete sync to process good quality Herbal Products. We provide regular training sessions to them, organize workshops and seminar in order to sharpen their industrial knowledge and skills.